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to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Stomata are present in:

(A) Xylem A (B) Phioem (4

(2) Rubber plant removes waste material in the form of:

(A) Latex JQ (B) Gums /

(3) The middie layer of human eye is:

A Ay

Y SRR T

(C) Epidermis o3¢/ (D) Endodermis (/Ziskt
e U I s e oy
(C) Resins v¥» (D) Mucilage zudiw sss

-q.jg}?»(feﬁtdw

(N

@)

(A) Sclera | £~ (B) Cornea s (C) Retina (D) Choroid %14

(4) Which hormone stimulates the contraction of uterus walls? S Y /‘Ua_ /‘Cu.fuulg;JJ/'gungvuf 4
(A} Calcitonin Jiu"! (B) Oxytocin 4T  (C) Parathormone ¢i»#z (D) Thyroxin e

(5) The number of benes in human skull is: ,‘;;lﬁJug},ufdi;JJuui (5)

(A8 (B) 14 (C) 22 (D) 26

(8) The plant that reproduces by stem tuber. _{L‘ngji./irzj}/;):i—/jd:/.)fﬂ; (5)]
(A) Onion i (B) Potato 57 (C) Garlic 7 (D) Ginger sl

(7) in DNA molecule adenine pairs with: ce Al LGHRJFDNA ()
(A} Cytosine ¥\ (B) Guanine o (C) Uracil J .y (D) Thymine JIJU?

(8) The bred animals are called: YIRS 1083 9 OT R ()
(AY Cultivars J/L-J’K (B) Varieties ) (C) Hybrids 4.~} (D) Breeds 4.

(9) Decomposers are: —UE ;u':' )
(A) Algae & Fungi 08 s (I (B) Fungi & Bacteria L 2% s (¢ (C) Viruses »5 (D) Mosses

(10) Which is a non-renewable resource? ?»:._Jtiguléus,gig}t?t (10)
(A) Fossil fuel J£U?  (B) Water g}g (C) Soit ¢ (D) Wind i

(11) The enzyme works as breaking enzyme: -a t‘/?K{J)L/I'j:U_.I;L Kﬁﬁﬂ, {(11)
(A) Ligase /:@U (B) Amylase 2&5’ {C) Endonuclease ﬁ'fv.':)«af (D) Lipase /';?JU

(12) Which is an anti-viral protein? oSl (12)

{(A) Interfercn u;ﬁ;}-‘l (B) Insuline uiJ:Jl

(C) Thymosin ¢ (D) Urokinase Z(¥sy
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NOTE: Write same question number

2. Attempt any five parts.

-G lizibiadd 20y

(i) What are Alveolar ducts and Alveoli? sty Jugﬁﬁ st ﬂ)g:ﬁf (i
(i) What changes involve in chest cavity during Inspiration Process? pdiug SRSl 2SS )
(i) Differentiate between Acute bronchitis and Chronic bronchitis. FBA £t ek (i)
(iv)  Whatare Succulent Organs? gy ATedd (i)
(v) Write any two causes of kidney stones formation. ‘u:f’dag_o?wg’ J;(J&_.d/‘i'uﬁ‘;.;f (v)
{vi)  What are Recentors? I s, (VE)
{vii)  What is the function of Motor Neurons? ?.l:..t_erb’ Sl i)
(viii)  Write the two functions of Midbrain. -u:‘“f/' ¥/t (vii)

3. Attempt any five parts. 10=2x5 _Q{Jf.:,gmélz@ga.df 324
0 Differentiate between Locomoetion and Moverment, & fj IS sy {i)
(i) Write two functions of Ligaments. 2wl S i
(i)  Define Double Fertifization. AL AERIR iy
(iv)  Write two main causes for spread of AIDS. ,uf’{a;ff;d*f.mf 3 L&%’Lw (iv)
{v)  Define Genetics. IS e (W)
(v}  Whatis Co-dominance? Give an example. qq;db"«.ﬁ ‘.‘cL_t_f S (vi)
(vil)  Write the Genotype of blood group B. ~ S L*r':?JQhr:/}.é {vii)
(vill)  What is difference between Homozygous and f:.;_;d}ylﬂ S K8l g O O VD)
Heterozygous genotype?
4. Attempt any five parts. 10=2x5 -é{]’@&lﬁﬁlzlégadf ..4/.‘Ulr
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{) Differentiate between Primary Consumers and Secondary Consumers.
(i) Draw a simple Food chain.

(i)  Define Bioiogica! Nitrogen Fixaticn,

(iv)  Define Intraspecific Interactions.

(v) What is meant by Genetically Modified Organism?

{(vi)  Whatis the use of fermentation in cereal products?

(vii}  What s the difference between Antiseptics and Disinfectants?

{vit)  What is the use of lodine Tincture?

SECTION-ll e

NOTE: Attempt any two questions. 18=9x2 g izl etvme f o)
S{A) Explain the functioning of Kidney. 4 -bf/yu,d/f!.@:f (.5
(B) Write a note on Hindbrain. 5 ~E R (L)
6.(A) Whatis Bone? Explain its composition with diagrarn, 4 g eobse el ey (Lh).e

d Y , 7 z st
-5’5:..9 LosSs® /’rlm.».f. g’*‘%{k&}dﬁ“’)ﬂé_ﬁ?ﬂJﬁ{ﬁ&% -y

and describe two most common methods of Artificial Vegetative Propagation.

(B) Define Vegetative Propagation 5

7.(A) Write the objectives of Genetic Engineering. 4 L i il ebdais (.7
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Note: you have four choices for each objective type question as A, B, C and D. The choice -u_’f..',d’}’chlﬂr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fiif the bubbles. Cutting or filling two or more bubbles wili result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) How many pairs of homologous chromosomes St o i FL fyf:/JjJrnu.“)f &w&uw {1)

are present in human hody celis?

(A) 22 (B) 23 (C) 24 (D) 25

(2) The alternate forms of a gene are called: ST (Bl (2)
(A) Locus Y (B) Chromatin %,/ (C)Alleles ! (D) Histone w #+

{3) The total amount of living or organic matter in ~=¢3MlﬂfJ;)L.A€CTLg;JJﬁrU¢$;.QJﬁ“ £ g 3

an ecosystem at any time is called:

(A) Energy (A {B) Population ﬂgg {C) Community U,f (D) Biomass V£t

(4) Which animal is a Herbivore? e (Herbivore) Ju@/; u’lgvuf (%)
(A) Grasshopper 126,W  (B) Frog iz (C) owl #i {D) Fox

(5) Dolly is the name of a: , WLl ptdss (8)
(A) Rabbit Kjfj’ (B) Flower §U% (C) Mouse f=%, (D) Sheep &4

{6) Expired drugs can cause damage to: ‘ugEEn oKt ;,L/JVPI:,L»IJM.LW@;#’ (8)
{A)Lungs < %% (B) Testes 2+ (C) Ovaries z.» (D) Kidneys )

{7) The human chest wall is made up of pairs of ribs. -q.&ng};i},u,}i. e Lu;}?’ jl:jjd/é;dw {7}
(A) 8 {(B) 10 {C) 12 (Dy14

{8) Rubber plant removes other wasie material in the form of ____. ,g.t/azﬁufflf futz(;c__/» Lygs. (8)
{A) Resins vy (B) Gums /f (C) Latex J@ (D) Mucilage  palswses

{3) The part of brain that coordinates muscle movement: ' -ﬁ;l:aﬁf" T u;w/u!;«@d’ku 2K (9}

{A) Cerebrum = (B} Cerebellum ('f'/: (C) Medulla oblangata L},fvgﬂib}g (D) Pons 7§

(10) Pairs of spinal nerves that arise along spinal cord are: o é;jJibc.&HJLKJII; (10
A 3 (B) 13 ) 2 Dy 12
(11} Cartilage and bone are types of tissues of animals. -uj(‘.ﬁl&'ﬁ Lyt i (1)
(A) Muscle J~ (B) Connective & (C) Smooth £ (D) Cardiac & 3¢
{12) When pollen grains mature, they are transferred to: _%m_,g;fg}“‘"’;uﬁ;l?ugz.g:gf@fcf;.,z (12)

(A) Stigma L& (B) Carpel f ¢ (C) Sepal & (D) Root %
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NOTE: Write same question number

2. Attempt any five parts.

(i)
(i)
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{ivd
W)

i
vy

{vii}

{wviii)

3. Atiempt any five parts.

{i}
(i)
(i)
{iv)
{v)
{vi)
(vii)
(viii)

4. Attempt any five parts.

{
(i)
i)
{iv)
v}
(vid

(vi)

(viii)
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SECTION-l il»

10=2x5
Write four symptoms of Emphysema.

Differentiate between Acute Bronchitis and Chronic Bronchitis.
What is primaty goal of World Health Organization

regarding prevention of lung cancer?

Deafine Osmoregulation.

How Calcium Oxalate is removed in tomato plant

as metabolic waste?

What is function of Schwann cells in human nervous system?
Write any two growth effects of somatotrophin hormone

on human body.

What is optic disc in human eye and why it is

referred as blind spot?

10=2x5
Write the role of Skeletal System.

Write difference between Flexion and Extension.

What is meant by Hypogeal Germination? Give two examples.

Define Externai Fertilization. Give two examples,

Define Monohybrid Cross.

Define Translation.

Define Mendel's L.aw of Independent Assortment,

What do you know about Breeds and Varieties or Cultivars?
10=2x5
Define Herbivores and Carnivores.

What is Symbiosis? Name its any two types.
What is meant by Afforestation?

What is Greenhouse Effect?

What is meant by Genetic Engineering?

What is Fermenter?

Give difference between Pharmaceutical drugs
and Addictive drugs.

Alexander Fleming is famous for what?
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NOTE: Attempt any two questions. 18=9x2 -é;}'.:yzéuﬂrm—._éf -
5.{A) Describe the structure of functional unit of kurnan kidney. 4 _éwg._-,éuu/éiju".:f&ur ()5
{B) Write down about Paralysis and Epilepsy. 5 __dJJ“‘:' pl f/ PR ()
5.(A) Define Arthritis. Explain its types. 4 eSSy Sy A AT (Li)ee
(B) Write a note on Gametogenesis. 5 -é//;:'/ JEVVEENG IOV S (U0
7.(A) Describe the scope and importance of Biotechnology. r ‘u/ubwmlu;m%@‘ (D7
(B) Explain the mode of action of Vaccines. 5 Il JE AL L ShE f‘f ()




